








168 HELTZER AND VYSE

BF—nonsuperstitious. No points are earned if you move off the board.

If piece is moved to lower right hand box, points are earned every other time
piece is moved to that box. Pattern of moving piece to get to box is irrelevant;
alternating keys, moving all the way across and then down (or vice versa) or any
other pattern used in moving piece. No matter what path is taken to lower right
hand box, points are earned on every other time box is reached.

Random Ratio 2

AV—superstitious (a and c). Go by a certain pattern. The patterns run in
4’s. First one [drawing], then [drawing], then | don’t know, then [drawing]. But it
could be a certain key that needed to be hit every time. If you missed one then
the pattern went on anyway. The pattern seemed to be running in 3’s then in
4:s. | don’t know if there was a real 3rd pattern solution. If | could have figured
out the 3rd pattern | would get a pt. every time.

SL—superstitious (a). Get to the lower right hand corner, but there are many
ways to get there and you have to take the correct way to earn a point. Either
[drawing] or [drawing] or [drawing] or [drawing] usually worked at some point.
The most frequent was [drawing]. Some times other patterns worked, but the 4
patterns above were easy to use consistently (easy path to remember) and one
always worked.

ES—superstitious (c). | earned points by moving the [circle] from the top left
hand corner to the bottom right hand corner. | tried many different lateral and
horizontal combinations, some of which worked and some which didn’t. / am
sure there was some specific method for when the cursor gave points and when
it didn’t, but all | could tell was that it was a random process. As long as | got it
to the rt. hand corner and did something else it gave points. | do not know what
the something else was. Sometimes | did a certain combination twice or did the
opposite combinations and | got points for both.

SY—superstitious (c). You have to move the circle from the starting corner
to the opposite corner of the box using different patterns of movement to get
there. You have to move the circle on one half of the square to the opposite
corner and the next time was to go on the other side of the square. | received
points for a certain pattern sometimes and other times | would not get points for
the same pattern. Later the pattern could be used to get points. | never figured
out exactly how to earn points.

FG—superstitious (c). Reach the lower right hand corner based on some
sort of pattern, sometimes certain patterns worked sometimes they didn't.
Whenever a point was scored | would repeat the pattern again until it stopped
giving me points. | never fully figured out when it would give me points or not.
One of the patterns that | did find worked was to go through the following four
steps [drawings of a sequence of four patterns]. However this was not always
successful. Usually pattern 4 stopped before the other 3.

DC—superstitious (b). You must use the “/’ key to move right, and the “Z
key to move down and maneuver the circle to the lower right corner, from the
upper left one. Points are scored by moving into the square from the top or side,
and only one of those ways will score a point each round. There is only one way
to get a point and it changes from each round. It could be gotten, for instance,
by moving into the square from the side, in which case moving into it from the
top that turn would have been incorrect. The next turn, the correct way could be
to move in from the top, and not from the side. It was possible to have the
correct way repeat itself in succession (i.e. correct way to get a point would be
to go in from the side once, and the next round as well). The sequencing of the
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oint scoring seemed to be random at most times and each time that a
sequence seemed logical it would change back to being random again. For
example, going in from the side twice, then from the side twice would all elicit a

oint, but then the sequence would change, and it was no longer possible to
score points through that sequence.

KD—nonsuperstitious. To earn a point | moved the sphere from the upper
left-hand corner to the lower right-hand corner. Every path that | made the
sphere follow worked (earned a point) but not every time. The sum of all the
tailed attempts (going off the board by accident or just not earning a point at the
lower right hand square) and all the points earned was 50 or 51.

| didn’t eamn a point every time. The relationship between points and failures
wasn’t constant. | counted the earned points and failures in an attempt to find a
relationship. | didn’t find one. The points eamed and failures didn’t seem to be
related at all.

KJ—nonsuperstitious. | have absolutely no clue. Completely random—what
| did to get points.



